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%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

10 is the mean of a set of 6 observations and 5 is
the mean of a set of 4 observations. The mean
of the combined set is:

6 WEIUTT & TH=Ia &1 Wred 10 ¥ 3T 4 Yarun &
Tgsad & ured 5 2 fufye ggsea @ e

ST EIT?

(Lower-II 01.10.2019 Shift-I')
(a) 7.5 (b) 8
(c) 85 (d) 9




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

For a collection of 10 items, Z::: =155, then

the arithmetic mean is

mtrér'&aqasm%;ﬁm Y x=155 & @

TeHITaS "TE gl

(Lower Re.Exam 2017 (28.07.2019)
(a) 10 (b) 105
(c) 15 (d) 155

HAS




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

If 't" is the standard deviation of a, b and c,
then the standard deviationofa+ 6,b + 6 and ¢
+ 6 will be:

ﬂ'ﬁa,haﬁTcﬁTmﬁﬂm't'%Fﬁa+ﬁ,h

+ 6 31T ¢ + 6 T OIS Tarsrer &= gm?
(Lower-II 30.09.2019 Sﬁ{ﬁ-ff dj

(a) t (b) t+6

(c)a+tb+c (d) 6t

HAS




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

Find the range of the following data.
32, 45, 16, 28, 69, 34, 29,54, 48
frefafiga srer &6t I 7| &1
32, 45, 16, 28, 69, 34, 29, 54, 48
(Lower-II 30.09.2019 Shift-I", 10 AM )

(a) 16
(b) 44
(c) 53
(d) 54

HAS




/@ W atiendra d/// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

Find the mean of the following distribution

10




W@// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO cODE : E06321 /

Find the average number of patients visiting the hospital in a day. Uk e
H AT AT 1ol URTE Shi STTEd A& [T hitu|




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

MEAN DEVIATION- 1] fagdH

l. Find the mean of all values

2. Find the distance of each value from that mean (subtract the mean
from each value, ignore minus signs)

3. Then find the mean of those distances

. g1 | ohT HTET 7 R

2. 39 HIEA © Yok HI hi gt 1 skl (Fedsh AT © HeT 90, AIgTd
Hehdl sl 3@ )

3. Tt 3 g st mre fehred




Mmé,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321

VARIANCE (IdTRRUT )

The variance 1s a measure of variability. It is calculated by taking the average of squared

deviations from the mean.

Variance is calculated using the following formula:

2

M (;I‘.; == ET)

i . 2 =]
varlalce o =
rL

where:

z; = the i"" data point

r = the mean of all data points

n = the number of data points




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

STANDARD DEVIATION - HF®  fddd+

it is the square root of the Variance.

77 g (foremor ) Fr i @




Mﬂtﬁ(&dd«// FOR MORE DISCOUNT ViSIT www.mahendras.org & Use PROMO coDE : E06321 /

CO-EFFICIENT OF VARIATION (fd<e Turi)

Formula for Coefficient of Variation

o
Coefficient of Variation = Ex 1009%

Where:

e o -the standard deviation

e u-the mean




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The mean of a distribution is 15 and the
standard deviation is 5. what is the value
of the coefficient variation?

vs fAaior &1 Aew 15 § 3R A
faeer 5 8 | R=Ror ore &1 A
T 82

a) 16.66% b) 66.66%
c) 33.33% d) 100%

HAS




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the median, mode and mean of 9, 5,
8,9,978,9,8,

9,5 8,99, 7,8, 9,8 mﬁ:aa:r,agaa:
3 ATeT F4T 2R

a)9, 9,9, b)9,8,9,
c)8,9,8 d)s,9,9

HAS




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The standard deviation of the set {10, 11,
12,9, 8}is

{10, 11, 12, 9, 8} T HIASH Aol & :
a)1 b)V2Z  ¢)2 d) 2v2

HAS




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

If the standard deviation of a population
is 7, what would be the population

variance?
afe v FaEEar 1 A Qg 7

T Al STAEEAT FT AEI0T FAT BRI ?

a) 14 b)21  ¢)49 d) 28

HAS




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

The mean of a distribution is 11 and the
standard deviation is 5. What is the value
of the coefficient variation?

U& f@avor &1 A 11 § 3 AEs
Raesr 5 8 | R=Ror s &1 A=
FIT BT ?

a) 45.45% b) 35.35%
¢) 25.25% d) 55.55%

HAS




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the median of the data set: 1.9, 8.4,

3.6, 5.8
1.9, 8.4, 3.6, 5.8 T ACIHT ATT FY
a)5.1 b)4.8 «¢)5.2 d) 5.6

HAS




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

The mean deviation of the data 3, 10, 10,
4,7,10,5,is

3, 10, 10, 4, 7, 10, 5, T ATET oo &:

a) = b) —
50 18

HAS




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If the standard deviation of a distribution
is 9, what is the value of variance?

gfe el [™@aor &1 As @9 9

g, ar R=Ror F1 A F47 8N I 2
a) 18 b)27 ¢)81 d) 36

HAS




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the mean of the values: 1, 9, 7, 3, 5,

6,4,2,8
1,9,7,3,5,6,4,2,8 &I ATET ATd
a)3 b)4 «¢)5 d)6

HAS




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




